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Section 2.5: The Delta-Function Potential 69

Classical turning points

(a)

Classical turning point

(b)

Classical turning points

()

FIGURE 2.12: (a) A bound state. (b) Scattering states. (c) A classical bound state, but

a quantum scattering state.

everywhere, it only allows scattering states.** In this section (and the following
one) we shall explore potentials that give rise to both kinds of states.

It you are irritatingly observant. you may have noticed that the general theorem requiring
E > Vpin (Problem 2.2) does not really apply to scattering states, since they are not normalizable
anyway. If this bothers you, try solving the Schrodinger equation with E < 0, for the free particle. and
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